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(i)
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All the four guesfions are compulsory

All questions carry equtal weightage.

1. Answer the following question in about 600 words.

What do you understand by integrated learning ?
What are the implications of integrated learning
approach in transacting the primary school
curriculum ?

OR

What is interactive
strategies employed
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instruction ? Discuss any two
for interactive instruction.
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2. Answer the following question in about 600 words.

Discuss experiential learning methods for
individualised instruction.

OR

Discuss the significance of integrated learning in
small group situation. What criteria will you use for
grouping children for small group integrated
learning ?

3. Answer any four of the following questions in
about 150 words each :

(i)

(ii)

(iii)

(iv)

Write a note on different styles of learning.

What is team teaching ?

How will you use enquiry method for
integrated learning ?

Discuss problem solving and bminstgrming as
methods for integrated learning in large group
situation.

What considerations would you take into
account for selecting a theme for a project ?

In what ways can "essentialquestions" play an
important role for organising learning
experiences ? Explain
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4. Answer the following question in about 600 words.

Select a topic of your choice and write a detailed
plan for iniegrated teaching.
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